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[lentraement 1 : Convertisenem:
1cm
—_
| | | | | | | | —>|
1dm=10cm
| 1dm=10cm | 1m= 100 cm 10 mm = 1 cm
2dm= . cm 2M= e, cm 20 mm = ... cm
3dm= .. cm 3M= . cm 30 mm= ... cm
4dm= ... cm Adm= .. cm 40 mm = cm
5dm= ... cm S5m= . cm 50 mm = cm
10 dm = cm 10m= ... cm 100 mm = ............. cm
20dm = ........... cm 20m = . cm 250 mm = ............ cm
[lentraement 2 Convertisenmm:
| 1cm =10 mm Im= 1000 mm \ ] 3cmet 2mm=32 mm
2CM= s mm 2Mm= . mm 4dcmet 7mm= ... mm
3eMm= s mm 3M= s mm 8cmet3mm=......mm
dem= . mm 6mM= s mm 12cmet5mm= ... cm
S5cm= .., mm Im= s mm Immetd4cm = ... mm
10cm = ............ mm 2m= .. mm 2metb6mm= ... mm
23cm = e mm 37mM= s mm dmetbem= ... mm
[l entranement 3 : Prolonge les segments suivants afin de leur domner la longueur indiquée:
[ AB] [CD] [EF] [GH ] [IJ]
7 cm 6 cm et 5 mm 12 cm et 3 mm 84 mm 115 mm
A:
C:
E
G:
I:
w © W&



